Loy

, nso, /,2,

@ v= :((_,zfz 'L.}gi.z n- -'23"!' el 4‘_"’;2 g.((/z n. ?.3‘7;4’))

—
OFR) Bt =Eecr , mph + £(04) = 20 1igt o > velellsun o, o
Koin = 9/([,[,)‘, %m{ "/T’
(L) ””*"“"’a +a<(1-;) ;:(o)-a 200)=4 @

® g 2, “‘*/‘Zj%
225 D0n g (1)R5) < (221) o, 2(1)(1),

@@) f‘= ‘)(’4(«{) P{‘Qﬂvr{ ‘){{-}"‘u{‘) O .F(a): cm,n" gA(V)O-D U(é) u e ‘)(éi——’a{!) D
(L)‘Fg ')'/’“-'{); = ol ’«,&(H‘-f).fﬁ) by 2 hly) D ) = v, (lmé)

O R) vo=(40) == (wid 1) @2 w(0)- 12t 38y =i @
@) 'u.:-(,m )‘~A (consty= )é).é ulf) = [(w)(cw{,-’)é)]"*’ [v —-(m),\éj"*'
@ R==(3Y3,0,%¥) , K=-extd-00-23, (2 H02), o feiqueny (0 Logr+f)
=YY =—) V= ~d ( x /7! +[é)) /gy*f(;s) = /5 )’. (/='-x3-/$¢,a @
@6\) 0L (1-3)4 =)t2) =3 ~()~3)(,\+1) 33, ), = (D)

(FRE)=A5)26) -3 '),wﬁ(ﬂ) FheQ 2- 1

1z ( -,l) D
(©) DI (-IED5-2) <(3-3)4 - (s-3)% = =412)%-30) 20 O/ )t @y )
= (-AN2g- 1)+ )7) Ay = L2 '}T = > L3¢, )=y 03+¢,,-

& &) ) (7)) = A(zﬁ?,?) «4-2+’,4,(I+€/) =42 + i,
) ﬂ.(lc+(2‘/{r+(2‘1/+) A(2e) a1

= g3 WA O
') @
[t#-i 4“]) TA{ZI) 4—[] []i

(c) -(é.) o ; £+f—.(2rm4(;)) = s 4A (2\_ *2/’* ) 8;4(2;)11.(5:) +t2+¢e?y 0g3) [

, t'r o ?)
.F‘(’) =§ .ﬂ )e— ' ®

&~

F(e,:‘) % "¢ @
ER : "(o)-_-o/ ""’(o):o/ x"”(a):q O> i) =g [ )

ERV: XVl LVeo "’{o)=o © > "= -fatg? D
L@ . X@= ~u7x(’)=+ -3 fz

Mo, s @ Xt O

D x@= 13O L )Y o ] = acorterd) v




